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In which 2°w3 "1 are like 2°7ay sayamw

OVERVIEW

When a statement i1s made that ‘a’ is like ‘b’; the inference is that ‘b’ is a
known factor, and ‘a’ is (also) like ‘b’. m2o1n will question the sequence in
the phrase 0°72y >1MwH 0°w1 v MWW, which indicates that 072y *NINW is
primary to 2’031 0.

MdoIN comments:
= DYYI YUY DY7aY YNINY NV 91291Y 57 11N NIOIN

The mwn should have phrased it in the reverse; ‘in which 2’72y s nw
are like 2w swsy’ -

- AUNA M0 NOAIY P9I PT v
For the basic ruling requiring and accepting 1"92 by Xvam1 T2 is
concerning a 3 for a woman. Why therefore did the 71wn phrase it in the reverse,
that WX v3 is like 72¥ M7W; indicating that the main ruling was by 072y > nw?

mooIn explains:
$NWIA NP0V V)2 29N RNYN TYT 2N NON

However, we can say that since till now' the xin of the mwn was

discussing the laws of v he mentioned 703 first. The subject of the
discussions up to now, were 0°%1 >0}, therefore the Xin is informing us that saying 1"91 is
one of the ways in which o°w1 "vx (the topic under discussion) is the same as W
0°72y.

SUMMARY
We compare 2°w1 v’ to 2°72Y *MNW, since we were discussing 2°031 V3
until now; not because 2’72y NNV is primary.

THINKING IT OVER
Why does mooin assume that the X221 7°717 1°7 PV is by a 7wK?

! Until we mentioned 0°72v > in this 73wn. See 2pY> NIXON.
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